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GROUP—A / ®¡àK—A

PHYSICS / šƒà=¢[¤ƒ¸à

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. ëA¡ï[oA¡ ®¡¹ì¤ìK¹ ³à[yA¡ ó¡³¢åºà Òº

(A) ML T2 1-

(B) ML T-1 2

(C) MLT 2

(D) MLT -2

2. ML T2 2-  ³à[yA¡ ó¡³¢åºà[i¡ Òº

(A) K[t¡Å[v¡û¡¹

(B) W¡àìš¹

(C) ¤ìº¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

3. >ãìW¡¹ ëA¡à>[i¡ º§¡ ë®¡ït¡ ¹à[Å >Ú?

(A) ‰ç¡[t¡

(B) "àÚt¡>

(C) ¤º

(D) ®¡¹
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Directions : Answer the following

questions by selecting the correct option.

1. The dimensional formula for angular 

momentum is

(A) ML T2 1-

(B) ML T-1 2

(C) MLT 2

(D) MLT -2

2. ML T2 2-  is the dimensional formula

for

(A) kinetic energy

(B) pressure

(C) force

(D) None of the above

3. Which of the following is not a

derived physical quantity?

(A) Speed

(B) Volume

(C) Force

(D) Mass



4. &A¡ "àìºàA¡¤È¢ Òº

(A) 9 46 1015× ´  m

(B) 9 46 1014× ´  m

(C) 9 46 1013× ´  m

(D) 9 46 103× ´  km

5. W¡–ƒøìÅJ¹ Îã³à &¤} šà¹³ào[¤A¡ ®¡¹ &A¡A¡
l¡ü®¡ìÚÒü &A¡[i¡ ë®¡ït¡ ¹à[Å¹ &A¡A¡¡ú ' ë³ï[ºA¡
¹à[Å[i¡¹ >à³ Òº

(A) Î³Ú

(B) íƒQ¢¸

(C) ®¡¹

(D) t¡[Øl¡; šø¤àÒ

6. [Ñšìl¡à[³i¡à¹ [ƒìÚ &A¡[i¡ KàØl¡ã¹ [A¡ ³àšà ÒÚ?

(A) KØl¡ ‰ç¡[t¡

(B) t¡à;Û¡[oA¡ ‰ç¡[t¡

(C) KØl¡ K[t¡ì¤K

(D) t¡à;Û¡[oA¡ K[t¡ì¤K

7. ™J> &A¡[i¡ ¤Ññ ¤õv¡ãÚ šì= &A¡Òü ‰ç¡[t¡ìt¡ W¡ìº
t¡J> >ãìW¡¹ ëA¡à>[i¡ [³=¸à?

(A) ¤Ññ[i¡¹ ‰ç¡[t¡ ‹øç¡¤A¡

(B) ¤Ññ[i¡¹ K[t¡ì¤K ‹øç¡¤A¡

(C) ¤Ññ[i¡¹ K[t¡ì¤K š[¹¤[t¢¡t¡ ÒÚ

(D) ¤Ññ[i¡¹ Œ¹o š[¹¤[t¢¡t¡ ÒÚ
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4. One light-year is equal to

(A) 9 46 1015× ´  m

(B) 9 46 1014× ´  m

(C) 9 46 1013× ´  m

(D) 9 46 103× ´  km

5. Both Chandrashekhar limit and

atomic mass unit are the units of a

physical quantity. The name of that

fundamental quantity is

(A) time

(B) length

(C) mass

(D) electric current

6. What does the speedometer of a

vehicle read?

(A) Average speed

(B) Instantaneous speed

(C) Average velocity

(D) Instantaneous velocity

7. When an object moves with constant 

speed in a circular path, then which

of the following is false?

(A) Speed of the object is constant

(B) Velocity of the object is constant

(C) Velocity of the object changes

(D) Acceleration of the object

changes



8. &A¡[i¡ ¤Ññ¹ "¤Ñ‚à> x, Î³Ú t-&¹ Îàì= 
x at bt= -2 3 Î³ãA¡¹o ">åÎàì¹ š[¹¤[t¢¡t¡
ÒÚ, ë™Jàì> a * b Òº ‹øç¡¤A¡¡ú t = 1 s Î³ìÚ 
¤Ññ[i¡¹ K[t¡ì¤K Òì¤

(A) a b- 3

(B) 2a b-

(C) 2 3a b-

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

9. &A¡[i¡ KàØl¡ã¹ W¡àºA¡ 30 m/s ë¤ìK KàØl¡ã[i¡
W¡àºàìZá¡ú Òk¡à; ëÎ ëƒJìt¡ šàÚ &A¡[i¡ [ÅÇ¡
KàØl¡ã[i¡¹ 80 m Îà³ì> &¤} ëÎ 0·5 s Î³ìÚ
šø[t¡[yû¡Úà A¡ì¹ * Îì¤¢àZW¡ 8 m/s2-& ë¤øA¡
A¡ìÈ¡ú ëÎ

(A) [ÅÇ¡[i¡ìA¡ ‹àB¡à Jà*Úà ë=ìA¡ ¤òàW¡àìt¡
šà¹ì¤ >à

(B) [ÅÇ¡[i¡ìA¡ ‹àB¡à Jà*Úà ë=ìA¡ ¤òàW¡àìt¡
šà¹ì¤

(C) [ÅÇ¡[i¡ìA¡ Ç¡‹å áåòìÚ ™àì¤

(D) KàØl¡ã[i¡¹ ë¤øA¡ ëó¡º A¡¹ì¤

10. [Ñ‚¹ "¤Ñ‚à ë=ìA¡ &A¡[i¡ ¤àÎ Î³Œ¹ìo 20 s

Î³ìÚ 54 km/h ë¤K "\¢> A¡ì¹¡ú 20 s

Î³ìÚ "[t¡yû¡à”z ƒè¹Œ Òì¤

(A) 152 m

(B) 150 m

(C) 140 m

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/23 4

8. The position x of a particle varies

with time t as x at bt= -2 3, where

a and b are constants. What is the

velocity of the particle at t = 1 s?

(A) a b- 3

(B) 2a b-

(C) 2 3a b-

(D) None of the above

9. A driver is driving a car at a

velocity 30 m/s. Suddenly he

notices a child 80 m straight

ahead and in 0·5 s he reacts with

maximum brake of 8 m/s2. He

(A) cannot avoid hitting the child

(B) can avoid hitting the child

(C) will just touch the child

(D) The brake of the car will fail

10. A bus at rest accelerates uniformly

to a velocity of 54 km/h in 20 s. The

distance travelled by the bus in 20 s

is

(A) 152 m

(B) 150 m

(C) 140 m

(D) None of the above



11. >ãìW¡¹ ëA¡à>[i¡ ¤Ññ¹ ‰ç¡[t¡ [>ìƒ¢Å A¡ì¹?

(A) &[i¡ Î¤¢ƒà ‹>àuA¡

(B) &[i¡ ëÑHºà¹ ¹à[Å

(C) &[i¡ &A¡A¡ Î³ìÚ ¤Ññ ‡à¹à "[t¡yû¡à”z ƒè¹Œ

(D) l¡üšì¹¹ Î¤P¡[º

12. &A¡\> ³à>åìÈ¹ *\>, *\> ³àšà¹ ™ì”| W

³àšà Òº¡ú ™J> ëA¡àì>à &[ºì®¡i¡àì¹ l¡üšì¹¹
[ƒìA¡ Œ¹o [>ìÚ ¤¸[v¡û¡ l¡üìk¡, t¡J> t¡à¹ *\> ÒÚ

(A) = W

(B) < W

(C) > W

(D) Åè>¸

13. &A¡[i¡ ë®¡ït¡ ¹à[Å ™à ¤Ññ¹ ®¡¹ì¤ìK¹ š[¹¤t¢¡ì>¹ 
Î³à>, t¡àìA¡ ¤ºà ÒÚ

(A) ¤º

(B) Œ¹o

(C) Qàt¡

(D) šø[t¡[yû¡Úà

14. [yû¡Úà &¤} šø[t¡[yû¡Úà

(A) &A¡Òü ¤Ññ¹ l¡üš¹ A¡à\ A¡ì¹

(B) Î³à> &¤} ƒå[i¡ &A¡Òü [ƒìA¡ A¡à\ A¡ì¹

(C) &ìA¡ "š¹ìA¡ šøÅ[³t¡ A¡ì¹

(D) ƒå[i¡ [¤[®¡Ä ¤Ññìt¡ A¡à\ A¡ì¹
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11. Which of the following represents

speed of an object?

(A) It is always positive

(B) It is a scalar quantity

(C) It is the distance travelled by

the object in unit time

(D) All of the above

12. The weight of a man recorded by a

weighing machine is W . When an

elevator accelerates upward carrying 

him, his weight will be

(A) = W

(B) < W

(C) > W

(D) zero

13. The physical quantity, which is

equal to the change in momentum of 

a body, is known as

(A) force

(B) acceleration

(C) impulse

(D) reaction

14. Action and reaction

(A) act on the same body

(B) are equal and act in the same

direction

(C) cancel each other

(D) act on two different bodies



15. &A¡[i¡ ¤Ññ 72 km/h ë¤ìK JÎJìÎ ">å®è¡[³A¡ 
t¡ìº¹ (™à¹ QÈ¢o P¡oà}A¡ 0·5) l¡üš¹ W¡º³à>¡ú
™[ƒ "[®¡A¡È¢\ Œ¹o 10 m/s2 ÒÚ, t¡ì¤
Î¤¢[>³— A¡t¡ ƒè¹ìŒ ¤Ññ[i¡ ë=ì³ ™àì¤?

(A) 10 m

(B) 40 m

(C) 30 m

(D) 20 m

16. ®¡¹ì¤ìK¹ š[¹¤t¢¡> Òº

(A) ¤º × ®¡¹

(B) ¤º × Î³Ú

(C) ¤º × ë¤K

(D) ¤º × ƒè¹Œ

17. x-"Û¡ ¤¹à¤¹ W¡º³à> &A¡[i¡ ¤Ññ¹ l¡üš¹ &A¡[i¡

[Ñ‚¹ ¤º 
r
F i j k= + +2 4$ $ $ N šøìÚàK A¡¹à Òº¡ú 

&Òü ¤ìº¹ šø®¡àì¤ ¤Ññ[i¡ìA¡ x-"Û¡ ¤¹à¤¹ 4 m

ë™ìt¡ A¡t¡ A¡à™¢ A¡¹ìt¡ Òì¤?

(A) 8 J

(B) 4 J

(C) 2 J

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

18. &A¡ ¤¸[v¡û¡ 20 kg-¹ &A¡[i¡ ë¤àc¡à t¡à¹ ³à=àÚ
[>ìÚ 100 m ëÎà\à ">å®è¡[³A¡ ¹àÑzà [ƒìÚ ™àÚ¡ú 
¤¸[v¡û¡ ‡à¹à Aõ¡t¡A¡à™¢ Òº

(A) 2000 N

(B) Åè>¸

(C) "Îã³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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15. A body is moving with a velocity of

72 km/h on a rough horizontal

surface of coefficient of friction 0·5.

If the acceleration due to gravity

is 10 m/s2, find the minimum

distance where it can be stopped.

(A) 10 m

(B) 40 m

(C) 30 m

(D) 20 m

16. The change in momentum is given

by

(A) force × mass

(B) force × time

(C) force × velocity

(D) force × distance

17. A body moving along the x-axis of

a coordinate system is subjected to

a constant force 
r
F i j k= + +2 4$ $ $ N.

What is the work done by this force

in moving the body through a

distance of 4 m along the x-axis?

(A) 8 J

(B) 4 J

(C) 2 J

(D) None of the above

18. A person carries 20 kg load on his

head and travels 100 m on a

straight horizontal road. The work

done by the person is

(A) 2000 N

(B) zero

(C) infinite

(D) None of the above



19. &A¡[i¡ ®¡à¹ã ¤Ññ * &A¡[i¡ ÒàºôA¡à ¤Ññ ƒå[i¡¹Òü
K[t¡Å[v¡û¡ Î³à>¡ú ëA¡à>[i¡¹ ®¡¹ì¤K ë¤Åã Òì¤?

(A) ÒàºôA¡à ¤Ññ¹

(B) ÒàºôA¡à * ®¡à¹ã ƒå[i¡ ¤Ññ¹Òü ®¡¹ì¤K Î³à>
Òì¤

(C) ®¡à¹ã ¤Ññ¹

(D) "Î´šèo¢ t¡=¸ ëƒ*Úà "àìá

20. kWh >ãìW¡¹ ëA¡à>[i¡¹ &A¡A¡?

(A) Û¡³t¡à

(B) Å[v¡û¡

(C) ¤º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

21. ë™ [º®¡àì¹ ™à[”|A¡ Îå[¤‹à 1-&¹ A¡³ t¡à¹

(A) "àº´¬ =àìA¡ ®¡à¹ * ¤à‹à¹ ³‹¸¤t¡ã¢ [¤–ƒåìt¡

(B) ®¡à¹, ¤à‹à * "àºì´¬¹ ³ì‹¸ =àìA¡

(C) ¤à‹à, "àº´¬ * ®¡àì¹¹ ³ì‹¸ =àìA¡

(D) ®¡à¹ * ¤à‹à &A¡Òü [¤–ƒåìt¡ A¡à\ A¡ì¹

22. &A¡[i¡ ëáìº t¡à¹ 200 kg *\ì>¹ ¤àÒüA¡[i¡ìA¡
1 m l¡üZW¡t¡àÚ ët¡àºà¹ \>¸ 2 m º´¬à &A¡[i¡
A¡àìk¡¹ >t¡t¡ìº¹ &A¡ šøà”z ³à[i¡ìt¡ "à¹ &A¡ šøà”z 
' l¡üZW¡t¡àÚ ¹àìJ¡ú ¤àÒüA¡[i¡ ët¡àºà¹ \>¸
ëáìº[i¡ìA¡ ¤à‹à "[t¡yû¡³ A¡¹ìt¡ Òì¤

(A) 100 kgf

(B) 200 kgf

(C) 400 kgf

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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19. A light and a heavy body have equal

kinetic energy. Which has the

greater momentum?

(A) The light body

(B) Both light and heavy bodies

have equal momentum

(C) The heavy body

(D) The given data is incomplete

20. kWh is the unit of

(A) power

(B) energy

(C) force

(D) None of the above

21. The lever for which the mechanical

advantage is less than 1 has

(A) fulcrum at midpoint between

load and effort

(B) load between effort and fulcrum

(C) effort between fulcrum and load

(D) load and effort acting at the

same point

22. A boy uses an inclined plank of

length 2 m to raise his bike of weight 

200 kg to a height of 1 m by placing

one end of the plank at ground and

the other end at that height. The

effort that the boy applies is

(A) 100 kgf

(B) 200 kgf

(C) 400 kgf

(D) None of the above



23. 0 °C l¡üÌ¡t¡à¹ 1 g ¤¹ó¡ìA¡ 100 °C l¡üÌ¡t¡à¹ 
¤àìÍš š[¹ot¡ A¡¹ìt¡ t¡àìš¹ šøìÚà\> ÒÚ

(A) 80 cal

(B) 536 cal

(C) 716 cal

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

24. 68 °F-&¹ Î³à> Òº

(A) 20 °C

(B) 22 °C

(C) 30 °C

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

25. 50 °C l¡üÌ¡t¡à¹ &A¡[i¡ ëºàÒà¹ ¤º &A¡[i¡ ³ìK
50 °C l¡üÌ¡t¡à¹ \ìº ëó¡ºà Òº¡ú t¡àš

(A) ¤º ë=ìA¡ \ìº šø¤à[Òt¡ Òì¤

(B) \º ë=ìA¡ ¤ìº šø¤à[Òt¡ Òì¤

(C) šø¤à[Òt¡ Òì¤ >à

(D) ƒå[i¡¹ t¡àš³àyàÒü ¤õ[‡ý¡ A¡¹ì¤

26. ƒå[i¡ ‹àt¡¤ ¤ÃA¡, ë™Jàì> &A¡[i¡ "š¹[i¡¹ tå¡º>àÚ
[‡P¡o ®¡à¹ã, 60  °C l¡üÌ¡t¡àÚ ¹ìÚìá¡ú ÒàºôA¡à
¤ÃìA¡¹ ÎàìšìÛ¡ ®¡à¹ã ¤ÃA¡[i¡¹ t¡àšÅ[v¡û¡¹ ">åšàt¡
Òº

(A) 0·5

(B) 1

(C) 2

(D) 4
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23. Find the heat required to convert 1 g 

of ice at 0 °C to vapour at 100 °C.

(A) 80 cal

(B) 536 cal

(C) 716 cal

(D) None of the above

24. 68 °F is equal to

(A) 20 °C

(B) 22 °C

(C) 30 °C

(D) None of the above

25. An iron ball at 50 °C is dropped in a

mug containing water at 50 °C. The

heat will

(A) flow from the ball to the water

(B) flow from the water to the ball

(C) not flow

(D) increase the temperature of

both

26. Two blocks of metal, one twice heavy 

as the other, are both at 60 °C. The

ratio of the heat energy of the

heavier block to that of the lighter

block is

(A) 0·5

(B) 1

(C) 2

(D) 4



27. &A¡[i¡ ¤Ññ¹ t¡àš³àyà 1 °C ¤õ[‡ý¡ A¡¹ìt¡ ë™
t¡àìš¹ šøìÚà\> ÒÚ ëÎ[i¡ Òº

(A) t¡àšÅ[v¡û¡

(B) t¡àšNøà[Òt¡à

(C) A¡¸àìºà[¹

(D) "àìš[Û¡A¡ t¡àšNøà[Òt¡à

28. &A¡[i¡ "àìºàA¡¹[Æµ &A¡[i¡ Î³t¡º ƒš¢ìo¹ l¡üš¹
ƒš¢o-t¡ìº¹ Îàì= 90° ëA¡àìo "àš[t¡t¡ ÒÚ¡ú ' 
¹[Æµ[i¡¹ ëÛ¡ìy šø[t¡ó¡º> ëA¡ào Òì¤

(A) 45°

(B) 90°

(C) 60°

(D) 0°

29. &A¡[i¡ ¤Ññ &A¡[i¡ Î³t¡º ƒš¢ìo¹ 20 cm Îà³ì> 
¹àJà Òº¡ú ƒš¢o[i¡ìA¡ ¤Ññ¹ [ƒìA¡ 2 cm Î¹àì>à
Òìº šøà=[³A¡ šø[t¡[¤ì´¬¹ ÎàìšìÛ¡ "[”z³
šø[t¡[¤ì´¬¹ "¤Ñ‚àì>¹ š[¹¤t¢¡> Òì¤

(A) 2 cm

(B) 4 cm

(C) 10 cm

(D) 22 cm

30. &A¡[i¡ ëKàºãÚ ƒš¢ìo¹ ¤yû¡t¡à ¤¸àÎà‹¢ R &¤}
ëó¡àA¡àÎ ƒè¹Œ f  Òìº

(A) R f=

(B) R f= 2

(C) R f= /2

(D) R f= 3
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27. The amount of heat required to raise 

the temperature of a substance

through 1 °C is called

(A) thermal energy

(B) heat capacity

(C) calorie

(D) specific heat capacity

28. A ray of light is incident on a plane

mirror making an angle of 90° with

the mirror surface. The angle of

reflection for this ray will be

(A) 45°

(B) 90°

(C) 60°

(D) 0°

29. An object is placed 20 cm in front of

a plane mirror. The mirror is moved

2 cm towards the object. The

distance between the positions of

the original and final images seen in

the mirror is

(A) 2 cm

(B) 4 cm

(C) 10 cm

(D) 22 cm

30. If R is the radius of curvature of a

spherical mirror and f  is its focal

length, then

(A) R f=

(B) R f= 2

(C) R f= /2

(D) R f= 3



31. &A¡[i¡ "¤t¡º ƒš¢o ¤Ññ¹ ëW¡ìÚ ¤Øl¡ Îƒô šø[t¡[¤´¬
Kk¡> A¡ì¹, ™J> ¤Ññ[i¡ =àìA¡

(A) ¤yû¡t¡à ¤¸àÎàì‹¢¹ Î³à> ƒè¹ìŒ

(B) ëó¡àA¡àÎ íƒìQ¢¸¹ ëW¡ìÚ A¡³ ƒè¹ìŒ

(C) ëó¡àA¡àÎ * ¤yû¡t¡à ëA¡ì–ƒø¹ ³ì‹¸

(D) ¤yû¡t¡à ¤¸àÎàì‹¢¹ ëW¡ìÚ ë¤Åã ƒè¹ìŒ

32. [>l¡ü A¡àìi¢¡[ÎÚà> [W¡Òû¡ [>Ú³à>å™àÚã

(A) "¤t¡º ƒš¢ìo¹ f  ‹>àuA¡ &¤} l¡üv¡º
ƒš¢ìo¹ f  ˜¡oàuA¡ ÒÚ

(B) "¤t¡º ƒš¢ìo¹ f  ˜¡oàuA¡ &¤} l¡üv¡º
ƒš¢ìo¹ f  ‹>àuA¡ ÒÚ

(C) ƒå[i¡ ƒš¢ìo¹ f  ‹>àuA¡ ÒÚ

(D) ƒå[i¡ ƒš¢ìo¹ f  ˜¡oàuA¡ ÒÚ

33. KàØl¡ã¹ ë¹Úà¹-[®¡l¡ü ƒš¢ìo¹ í¹[JA¡ [¤¤‹¢> ( )m

(A) 1-&¹ Î³à>

(B) 1-&¹ ë=ìA¡ ë¤Åã

(C) 1-&¹ ë=ìA¡ A¡³

(D) ¤Ññ¹ "¤Ñ‚àì>¹ l¡üš¹ [®¡[v¡ A¡ì¹ 1-&¹
ë¤Åã [A¡}¤à A¡³ ÒÚ

34. &A¡[i¡ l¡üv¡º ëºìX¹ ëó¡àA¡àÎ íƒQ¢¸ 10 cm.

&A¡[i¡ ¤ÑñìA¡ ëA¡à=àÚ ¹àJìº ëºX[i¡ &A¡[i¡
[¤¤‹¢A¡ Aò¡àìW¡¹ ³ìt¡à A¡à\ A¡¹ì¤?

(A) 15 cm

(B) 20 cm

(C) 25 cm

(D) 7 cm
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31. The real image formed by a concave

mirror is larger than the object,

when the object is

(A) at a distance equal to radius of

curvature

(B) at a distance less than the focal

length

(C) between focus and centre of

curvature

(D) at a distance greater than

radius of curvature

32. According to new Cartesian sign

convention

(A) f  of concave mirror is positive

and that of convex mirror is

negative

(B) f  of concave mirror is negative

and that of convex mirror is

positive

(C) f  of both the mirrors is positive

(D) f  of both the mirrors is negative

33. The linear magnification ( )m

produced by a rearview mirror fitted

in vehicles

(A) is equal to 1

(B) is greater than 1

(C) is lesser than 1

(D) can be more or less than 1

depending on the position of the 

object

34. A convex lens has a focal length of

10 cm. At which of the following

positions should an object be placed 

so that this convex lens may act as a 

magnifying glass?

(A) 15 cm

(B) 20 cm

(C) 25 cm

(D) 7 cm



35. W¡à¹[i¡ l¡üv¡º ëºX P , Q, R &¤} S-&¹
ëó¡àA¡àÎ ƒè¹Œ ™=àyû¡ì³ 20 cm, 15 cm,
5 cm &¤} 10 cm. ëA¡à>ô ëºX[i¡¹ Û¡³t¡à
Î¤¢à[‹A¡?

(A) P

(B) Q

(C) R

(D) S

36. &A¡[i¡ "¤t¡º ëºìX¹ Û¡³t¡à – 10D &¤}
&A¡[i¡ l¡üv¡º ëºìX¹ Û¡³t¡à + 6D. ™J> ƒå[i¡
ëºXìA¡ &A¡Îàì= š¹Ñš¹ Î}ÑšìÅ¢ ¹àJà Òì¤,
t¡J> ' ëºX™åKìº¹ Û¡³t¡à Òì¤

(A) - 4D

(B) - 16D

(C) + 4D

(D) +16D

37. &A¡[i¡ š[¹¤àÒã¹ ³ì‹¸ [ƒìÚ 10 min-&
300  C t¡[Øl¡; "à‹à> šø¤à[Òt¡ Òìº t¡à¹
šø¤àÒ³àyà Òì¤

(A) 30 A

(B) 0·3 A

(C) 0·5 A

(D) 5 A

38. &A¡[i¡ t¡àì¹¹ ¤¸àÎ "ì‹¢A¡ A¡¹à Òìº t¡à¹ ë¹à‹
Òì¤

(A) W¡à¹P¡o

(B) "ì‹¢A¡

(C) W¡à¹ ®¡àìK¹ &A¡ ®¡àK

(D) [‡P¡o
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35. The focal lengths of four convex

lenses P , Q , R and S are 20 cm,

15 cm, 5 cm and 10 cm respectively. 

The lens having the greatest power

is

(A) P

(B) Q

(C) R

(D) S

36. The power of a concave lens is – 10D 

and that of a convex lens is + 6D.

When these two lenses are placed in

contact with each other, the power

of their combination will be

(A) - 4D

(B) - 16D

(C) + 4D

(D) +16D

37. If the amount of electric charge

passing through a conductor in

10 min is 300 C, then the current

flowing is

(A) 30 A

(B) 0·3 A

(C) 0·5 A

(D) 5 A

38. If the diameter of a resistance wire is 

halved, then its resistance becomes

(A) four times

(B) half

(C) one-fourth

(D) two times



39. 2 kW Û¡³t¡àÎ´šÄ &A¡[i¡ í¤ƒå¸[t¡A¡ [Òi¡àì¹¹
Å[v¡û¡ J¹ìW¡¹ ¤¸Ú ÒÚ šø[t¡ [A¡ìºà*Úài¡-Qsi¡àÚ
R 4. [Òi¡à¹[i¡ 3 Qsi¡à W¡àºàì>à Òìº ë³ài¡ ¤¸Ú
Òì¤

(A) R 12

(B) R 24

(C) R 36

(D) R 48

40. 96000 C "à‹à> 1 Qsi¡à ‹ì¹ 50 ë®¡àÂi¡
[¤®¡¤ šøì®¡ìƒ¹ ³ì‹¸ [ƒìÚ šø¤à[Òt¡ Òìº l¡ü;šÄ
t¡àìš¹ š[¹³ào Òì¤

(A) 4788400 J

(B) 4877400 J

(C) 4488400 J

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

41. &A¡[i¡ Å[v¡û¡Åàºã ƒr¡ Wå¡´¬A¡ l¡üÀ´¬®¡àì¤ &A¡[i¡
">å®è¡[³A¡ A¡àìk¡¹ ë¤àìl¢¡¹ l¡üš¹ ¹àJà Òº¡ú t¡à¹
ëW¡ï´¬A¡ ¤ºì¹JàP¡[º =àA¡ì¤

(A) ëA¡¤º Wå¡´¬A¡[i¡¹ W¡à[¹[ƒìA¡¹ ">å®è¡[³A¡ t¡ìº

(B) ëA¡¤º Wå¡´¬A¡[i¡¹ W¡à[¹[ƒìA¡¹ l¡üÀ´¬ t¡ìº

(C) Wå¡´¬A¡[i¡¹ W¡à[¹[ƒìA¡¹ ">å®è¡[³A¡ * l¡üÀ´¬ ƒåÒü
t¡ìº

(D) Wå¡´¬A¡[i¡¹ W¡à[¹[ƒìA¡¹ Î¤ t¡ìº

42. &A¡[i¡ º´¬à ëÎà\à Î[º>ìÚìl¡¹ ³ì‹¸ [ƒìÚ t¡[Øl¡;
šø¤à[Òt¡ Òìº t¡à¹ ë®¡t¡ì¹ ëW¡ï´¬A¡ ëÛ¡ìy¹ ³à>

(A) Åè>¸ Òì¤

(B) A¡³ì¤ ™t¡Òü šøàì”z¹ [ƒìA¡ "NøÎ¹ Òì¤

(C) ¤àØl¡ì¤ ™t¡Òü šøàì”z¹ [ƒìA¡ "NøÎ¹ Òì¤

(D) Î¤ [¤–ƒåìt¡ &A¡Òü =àA¡ì¤
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39. An electric heater is rated at 2 kW.

Electrical energy costs R 4 per kWh.

What is the cost of using the heater

for 3 hours?

(A) R 12

(B) R 24

(C) R 36

(D) R 48

40. The heat produced, when 96000 C

of charge is transferred in 1 hour

through a potential difference of

50 volts, is

(A) 4788400 J

(B) 4877400 J

(C) 4488400 J

(D) None of the above

41. A strong bar magnet is placed

vertically above a horizontal wooden

board. The magnetic lines of force

will be

(A) only in horizontal plane around

the magnet

(B) only in vertical plane around the 

magnet

(C) in horizontal as well as in

vertical planes around the

magnet

(D) in all the planes around the

magnet

42. The magnetic field inside a long

straight solenoid carrying current

(A) is zero

(B) decreases as we move towards

its end

(C) increases as we move towards

its end

(D) is same at all points



43. t¡[Øl¡; šø¤àìÒ¹ ëW¡ï´¬A¡ãÚ ó¡º "à[¤ÍHà¹ A¡ì¹>

(A) ³¸àG*ìÚº

(B) ëóÃ¡[³}

(C) *¹ìÐ¡l¡

(D) ó¡¸à¹àìl¡

44. &A¡[i¡ t¡[Øl¡;¤àÒã ëKàºàA¡à¹ t¡àì¹¹ Î´¶åJt¡º
l¡üv¡¹ ë³¹ç¡¹ ³ìt¡à A¡à\ A¡ì¹¡ú ' ëKàºàA¡à¹
t¡à¹[i¡¹ Î´¶åJt¡ìº t¡[Øl¡; šø¤àìÒ¹ [ƒA¡ Òì¤

(A) Q[Øl¡¹ Aò¡ài¡à¹ [ƒìA¡

(B) >ãìW¡¹ [ƒìA¡

(C) Q[Øl¡¹ Aò¡ài¡à¹ [¤š¹ãt¡ [ƒìA¡

(D) l¡üšì¹¹ [ƒìA¡

45. Òüìº[C¡öA¡ ë³ài¡¹ Òº &³> &A¡[i¡ ™”| ™à š[¹¤t¢¡> 
A¡ì¹

(A) ™à[”|A¡ Å[v¡û¡ìA¡ í¤ƒå¸[t¡A¡ Å[v¡û¡ìt¡

(B) t¡àšÅ[v¡û¡ìA¡ í¤ƒå¸[t¡A¡ Å[v¡û¡ìt¡

(C) í¤ƒå¸[t¡A¡ Å[v¡û¡ìA¡ t¡àšÅ[v¡û¡ìt¡

(D) í¤ƒå¸[t¡A¡ Å[v¡û¡ìA¡ ™à[”|A¡ Å[v¡û¡ìt¡

46. SONAR-& "à³¹à ¤¸¤Òà¹ A¡[¹

(A) Åì¦àv¡¹ t¡¹U

(B) Åì¦t¡¹ t¡¹U

(C) ë¹[l¡* t¡¹U

(D) Åøç¡[t¡ìKàW¡¹ Å¦t¡¹U
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43. The magnetic effect of current was

discovered by

(A) Maxwell

(B) Fleming

(C) Oersted

(D) Faraday

44. The front face of a circular wire

carrying current behaves like a

north pole. The direction of current

in this face of the circular wire is

(A) clockwise

(B) downward

(C) anticlockwise

(D) upward

45. Electric motor is a device which

transforms

(A) mechanical energy to electrical

energy

(B) heat energy to electrical energy

(C) electrical energy to heat energy

(D) electrical energy to mechanical

energy

46. In SONAR, we use

(A) ultrasonic waves

(B) infrasonic waves

(C) radio waves

(D) audible sound waves



47. Å¦ ¤àÚåìt¡ W¡ºàW¡º A¡ì¹, ™[ƒ

(A) ³à‹¸ì³¹ A¡oàP¡[º &A¡ \àÚKà ë=ìA¡ ">¸
\àÚKàÚ W¡ºàW¡º A¡ì¹

(B) ¤àÚå³r¡ìº ëA¡àì>à \ºãÚ ¤àìÍš¹ A¡oà >à
=àìA¡

(C) "àìºàØl¡> šø¤à[Òt¡ ÒÚ

(D) A¡oà * "àìºàØl¡> l¡ü®¡ÚÒü &A¡ \àÚKà ë=ìA¡ 
">¸ \àÚKàÚ ™àÚ

48. >ãìW¡¹ ëA¡à>[i¡ìt¡ Åì¦¹ K[t¡ì¤K Î¤¢[>³—?

(A) ¤àÚåìt¡

(B) t¡¹ìº

(C) A¡[k¡ì>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

49. &A¡[i¡ ¤Ññ¹ ®¡¹ì¤K 25% ¤õ[‡ý¡ A¡¹ìº t¡à¹
K[t¡Å[v¡û¡ ¤õ[‡ý¡ Òì¤ šøàÚ

(A) 5%

(B) 25%

(C) 38%

(D) 56%

50. ëA¡à>ô t¡àš³àyàÚ ¤àÚåìt¡ Åì¦¹ K[t¡ì¤K 27 °C

l¡üÌ¡t¡àÚ Åì¦¹ K[t¡ì¤ìK¹ [‡P¡o Òì¤?

(A) 927 °C

(B) 327 °C

(C) 54 °C

(D) 1000 °C
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47. Sound travels in air, if

(A) particles of medium travel from

one place to another

(B) there is no moisture in the

atmosphere

(C) disturbance moves

(D) both particles as well as

disturbance travel from one

place to another

48. In which of the following, the speed

of sound is least?

(A) Air

(B) Liquid

(C) Solid

(D) None of the above

49. The momentum of a body is

increased by 25%. The kinetic

energy is increased by about

(A) 5%

(B) 25%

(C) 38%

(D) 56%

50. The temperature at which speed of

sound in air becomes double of its

value at 27 °C is

(A) 927 °C

(B) 327 °C

(C) 54 °C

(D) 1000 °C



GROUP—B / ®¡àK—B

CHEMISTRY / ¹ÎàÚ>ÅàÑ|

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

51. &A¡[i¡ K¸àÎãÚ ÒàÒüìl¡öàA¡à¤¢> X  ëA¡ 600 °C

t¡àš³àyàÚ l¡üv¡œ¡ A¡šà¹ >ìº¹ [®¡t¡¹ [ƒìÚ W¡àº>à 
A¡¹ìº ë¤[g> l¡ü;šÄ ÒÚ¡ú X  Òº

(A) Òü[=>

(B) Òü=àÒü>

(C) ëšøàšàÒü>

(D) Òüì=>

52. A¡àì¤¢àì\> ë™ [³Åøo[i¡¹ >à³ ëÎ[i¡ Òº

(A) O CO2 +

(B) H CO2 2+

(C) CO CO+ 2

(D) O CO2 2+

53. [>³—[º[Jt¡ "GàÒül¡P¡[º¹ ³ì‹¸ Îåšà¹"GàÒül¡[i¡
Òº

(A) CO2

(B) Na O2

(C) KO2

(D) SO2
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Directions : Answer the following

questions by selecting the correct option.

51. When a gaseous hydrocarbon X  is

passed through a Cu-tube heated at

600 °C, benzene is formed. X  is

(A) ethene

(B) ethyne

(C) propyne

(D) ethane

52. Carbogen is a mixture of

(A) O CO2 +

(B) H CO2 2+

(C) CO CO+ 2

(D) O CO2 2+

53. Among the following oxides, the

superoxide is

(A) CO2

(B) Na O2

(C) KO2

(D) SO2



54. 1·5 ë³àº "[Gì\> Al-&¹ ÎìU ™åv¡û¡ ÒìÚ 
Al O2 3 Kk¡> A¡ì¹¡ú &Òü [¤[yû¡ÚàÚ ¤¸¤Òê¡t¡
Al (šà¹³ào[¤A¡ ®¡¹ = 27)-&¹ ®¡¹ Nøà³
&A¡ìA¡ Òì¤

(A) 54

(B) 40·5

(C) 27

(D) 2·7

55. P , Q  &¤} R [W¡[Òû¡t¡ [t¡>[i¡ ë³ïìº¹ šà¹³ào[¤A¡ 
Î}J¸à ™=àyû¡ì³ ( )Z - 2 , Z &¤} ( )Z +1 .

&ìƒ¹ ³ì‹¸ Q  Òº [>[ÍI¡Ú K¸àÎ¡ú P  &¤} R

‡à¹à K[k¡t¡ ë™ïìK¹ Î}ìA¡t¡ Òì¤

(A) RP2

(B) R P2

(C) RP

(D) PR3

56. A¡ºìÚl¡ Òº

(A) &A¡-ƒÅà[¤[ÅÊ¡ [ÎìÐ¡³

(B) [‡-ƒÅà[¤[ÅÊ¡ [ÎìÐ¡³

(C) [y-ƒÅà[¤[ÅÊ¡ [ÎìÐ¡³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

57. [>³—[º[Jt¡ ëA¡à>ô [¤[yû¡Úà[i¡ Qi¡ì¤ >à?

(A) Fe Cu Fe Cu+ ® ++ +2 2

(B) Mg Zn Mg Zn+ ® ++ +2 2

(C) Zn Fe Zn Fe+ ® ++ +2 2

(D) Cu Zn Cu Zn+ ® ++ +2 2
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54. If 1·5 moles of oxygen combine with

Al to form Al O2 3, the mass of Al

(atomic mass = 27) in gram used in

this reaction is

(A) 54

(B) 40·5

(C) 27

(D) 2·7

55. Three elements marked P , Q  and R

have atomic numbers ( )Z - 2 , Z and 

( )Z +1  respectively. Of these, Q  is

an inert gas. The formula of the

compound produced by the

combination of P  and R is

(A) RP2

(B) R P2

(C) RP

(D) PR3

56. Colloid is a

(A) one-phase system

(B) two-phase system

(C) three-phase system

(D) None of the above

57. Which of the following reactions will

not occur?

(A) Fe Cu Fe Cu+ ® ++ +2 2

(B) Mg Zn Mg Zn+ ® ++ +2 2

(C) Zn Fe Zn Fe+ ® ++ +2 2

(D) Cu Zn Cu Zn+ ® ++ +2 2



58. š¹³àoå¹ [>l¡ü[AÃ¡ÚàìÎ¹ ¤¸àÎà‹¢ šøàÚ

(A) 10 10-  cm

(B) 10 15-  cm

(C) 10 13-  cm

(D) 10 8-  cm

59. [>³—[º[Jt¡ "GàÒül¡P¡[º¹ Û¡à¹A¡ãÚ ‹ì³¢¹ Î[k¡A¡
yû¡³ Òº

(A) Al O MgO Na O K O2 3 2 2< < <

(B) MgO K O Al O Na O< < <2 2 3 2

(C) K O Na O MgO Al O2 2 2 3< < <

(D) K O Na O Al O MgO2 2 2 3< < <

60.

X Òº

(A) Òü[=[º>

(B) Òüì=>

(C) "¸à[Î[i¡[º>

(D) [³ì=>

61. Î³š[¹³ào Zn-&¹ ÎìU šõ=A¡ šõ=A¡®¡àì¤
"[t¡[¹v¡û¡ H SO2 4 &¤} NaOH-&¹ [¤[yû¡Úà
A¡¹àìº &A¡Òü t¡àš³àyà * W¡àìš l¡ü;šÄ H2

K¸àìÎ¹ "àÚt¡ì>¹ ">åšàt¡ Òì¤

(A) 1 : 2

(B) 2 : 1

(C) 3 : 2

(D) 1 : 1
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58. The radius of an atomic nucleus is

in the order of

(A) 10 10-  cm

(B) 10 15-  cm

(C) 10 13-  cm

(D) 10 8-  cm

59. The correct order of basic nature of

the given oxides is

(A) Al O MgO Na O K O2 3 2 2< < <

(B) MgO K O Al O Na O< < <2 2 3 2

(C) K O Na O MgO Al O2 2 2 3< < <

(D) K O Na O Al O MgO2 2 2 3< < <

60.

X is

(A) ethylene

(B) ethane

(C) acetylene

(D) methane

61. When the same quantity of Zn is

allowed to react separately with

excess of H SO2 4 and NaOH, the

volumes of H2 gas evolved at the

same temperature and pressure will

be in the ratio

(A) 1 : 2

(B) 2 : 1

(C) 3 : 2

(D) 1 : 1

CH —CH —Cl                              X3 2
Ethanolic KOH

D (Hydrocarbon) CH —CH —Cl                           X3 2
Òü=à>ºãÚ KOH

D (ÒàÒüìl¡öàA¡à¤¢>)



62. A¡¸àì=àl¡ ¹[Æµìt¡ =àìA¡

(A) ëšøài¡>

(B) [>l¡üi¡ö>

(C) ÒüìºC¡ö>

(D) a-A¡oà

63. [>³—[º[Jt¡ ëA¡à>ô ë³ïº ƒå[i¡¹ t¡[Øl¡;-˜¡oàuA¡t¡à¹
³à> šøàÚ Î³à>?

(A) F &¤} N

(B) N &¤} Cl

(C) O &¤} N

(D) O &¤} Cl

64. šÃà[i¡>à³ t¡[Øl¡;‡à¹ ¤¸¤Òà¹ A¡ì¹ \ìº¹
t¡[Øl¡;[¤ìÅÃÈo A¡¹ìº l¡ü;šÄ ÒÚ

(A) A¡¸àì=àìl¡ H2 &¤} "¸àì>àìl¡ O2

(B) "¸àì>àìl¡ H2 &¤} A¡¸àì=àìl¡ O2

(C) A¡¸àì=àìl¡ H2 &¤} O2 l¡ü®¡ÚÒü

(D) "¸àì>àìl¡ H2 &¤} O2 l¡ü®¡ÚÒü

65. ë¤à[¹A¡ "¸à[Îl¡ ( )H BO3 3  Òº

(A) t¡ã¤ø [yÛ¡à¹ãÚ "¸à[Îl¡

(B) t¡ã¤ø &A¡Û¡à¹ãÚ "¸à[Îl¡

(C) ³õƒå &A¡Û¡à¹ãÚ "¸à[Îl¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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62. Cathode rays consist of

(A) protons

(B) neutrons

(C) electrons

(D) a-particles

63. Which of the following pairs of

elements has almost same

electronegativity?

(A) F and N

(B) N and Cl

(C) O and N

(D) O and Cl

64. Electrolysis of water using

Pt-electrodes produces

(A) H2 at cathode and O2 at anode

(B) H2 at anode and O2 at cathode

(C) both H2 and O2 at cathode

(D) both H2 and O2 at anode

65. Boric acid ( )H BO3 3  is a

(A) strong tribasic acid

(B) strong monobasic acid

(C) weak monobasic acid

(D) None of the above



66. 10 g H2 &¤} 64 g O2 K¸àÎìA¡ &A¡[i¡
[Ð¡ìº¹ šàìy [>ìÚ [¤ìÑ£¡à¹o Qi¡àì>à Òº¡ú &Òü
[¤[yû¡ÚàÚ l¡ü;šÄ \ìº¹ š[¹³ào Òì¤

(A) 3 mol

(B) 1 mol

(C) 2 mol

(D) 4 mol

67. ÒüìºC¡ö> ( )e , ëšøài¡> ( )p  &¤} [>l¡üi¡ö> ( )n -&¹
"à‹à>/®¡¹ ( / )e m  ³àì>¹ (Aå¡º´¬/Nøà³ &A¡ìA¡)
$‹ÿ¤¢yû¡³ Òì¤

(A) e p n< <

(B) p e n< <

(C) n e p< <

(D) n p e< <

68. 250 mL NaOH-&¹ \ºãÚ ‰¤ìo
4 g NaOH ‰¤ã®è¡t¡ "àìá¡ú ‰¤o[i¡¹ ë³àºà[¹[i¡ 
Òº

(A) 0·8 M

(B) 0·4 M

(C) 0·1 M

(D) 0·2 M

69. &A¡[i¡ "î\¤ ë™ïK X  ëA¡ l¡üv¡œ¡ A¡¹ìº Òül¡ü[¹Úà
l¡ü;šÄ ÒÚ¡ú X  Òº

(A) "¸àì³à[>Úà³ =àìÚàÎàÚàì>i¡

(B) "¸àì³à[>Úà³ ÎàÚà>àÒül¡

(C) "¸àì³à[>Úà³ ÎàÚàì>i¡

(D) "¸àì³à[>Úà³ A¡à¤¢ì>i¡
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66. 10 g of H2 and 64 g of O2 were filled

in a steel vessel and exploded. The

amount of water produced in this

reaction will be

(A) 3 mol

(B) 1 mol

(C) 2 mol

(D) 4 mol

67. The increasing order for the values of 

charge/mass ( / )e m  in coulomb/gram

for electron ( )e , proton ( )p  and

neutron ( )n  is

(A) e p n< <

(B) p e n< <

(C) n e p< <

(D) n p e< <

68. 4 g of NaOH is present in 250 mL

of its aqueous solution. The molarity 

of the solution is

(A) 0·8 M

(B) 0·4 M

(C) 0·1 M

(D) 0·2 M

69. Urea is obtained by heating an

inorganic compound X . X  is

(A) ammonium thiocyanate

(B) ammonium cyanide

(C) ammonium cyanate

(D) ammonium carbonate



70. Nøàó¡àÒüi¡ ëA¡ºàìÎ C—C ¤Þê¡>-íƒQ¢¸ Òº

(A) 1·54 Å

(B) 1·34 Å

(C) 1·42 Å

(D) 1·62 Å

71. &A¡[i¡ ‰¤ìo¹ pH-&¹ ³à> 3. ™[ƒ ‰¤o[i¡ìA¡
100 P¡o ºQå A¡¹à ÒÚ t¡ì¤ l¡ü;šÄ >èt¡>
‰¤o[i¡¹ pH-&¹ ³à> Òì¤

(A) 5

(B) 1

(C) 3

(D) 2

72. [>³—[º[Jt¡ ëA¡à>ô ë\àØl¡[i¡ìA¡ "àÒüìÎàÐ¡à¹Î ¤ìº?

(A) CO2 &¤} SO2

(B) N O2  &¤} CO2

(C) SO2 &¤} N O2

(D) H O2  &¤} F O2

73. yû¡àìÚàºàÒüi¡ Òº

(A) Na AlF3 6

(B) CaF2

(C) NaAlO2

(D) Na ZnO2 2
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70. In crystalline graphite, C—C bond

length is

(A) 1·54 Å

(B) 1·34 Å

(C) 1·42 Å

(D) 1·62 Å

71. The pH value of a solution is equal

to 3. If the solution is 100 times

diluted, then the pH value of the

resulting solution will be

(A) 5

(B) 1

(C) 3

(D) 2

72. Which one of the following pairs is

called isosters?

(A) CO2 and SO2

(B) N O2  and CO2

(C) SO2 and N O2

(D) H O2  and F O2

73. Cryolite is

(A) Na AlF3 6

(B) CaF2

(C) NaAlO2

(D) Na ZnO2 2



74. 18 mg \ìº l¡üš[Ñ‚t¡ \º "oå¹ Î}J¸à Òº
(N = "¸àì®¡àKàìl¡öà Î}J¸à)

(A) 10 1- N

(B) 10N

(C) 10 2- N

(D) 10 3- N

75. 10 g CaCO3-&¹ ÎìU "[t¡[¹v¡û¡ š[¹³ào
ºQå HCl-&¹ [¤[yû¡ÚàÚ [>K¢t¡ CO2 K¸àìÎ¹
š[¹³ào Òº

(A) 0·4 g

(B) 44 g

(C) 4·4 g

(D) 88 g

76. Î³ÒüìºC¡ö[>A¡ ÑšãÅã\ Òº

(A) S2- , P3- , Ar

(B) Al3+ , Mg2+ , Na +

(C) Na + , O2- , N3-

(D) l¡üšì¹¹ Î¤P¡[ºÒü

77. C H5 12 "ào[¤A¡ Î}ìA¡t¡™åv¡û¡ Î´±à¤¸
"¸àºìA¡ì>¹ Î}J¸à Òº

(A) 3

(B) 4

(C) 2

(D) 5
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74. The number of water molecules in

18 mg of water in terms of

Avogadro’s number N  is

(A) 10 1- N

(B) 10N

(C) 10 2- N

(D) 10 3- N

75. The amount of CO2 gas released

from the reaction of 10 g of CaCO3

with excess of dilute HCl is

(A) 0·4 g

(B) 44 g

(C) 4·4 g

(D) 88 g

76. The isoelectronic species are

(A) S2- , P3- , Ar

(B) Al3+ , Mg2+ , Na +

(C) Na + , O2- , N3-

(D) All of the above

77. The number of possible alkanes

having molecular formula C H5 12 is

(A) 3

(B) 4

(C) 2

(D) 5



78. šà¹³å[i¡i¡ š‡ý¡[t¡ìt¡ \ìº¹ J¹t¡à ƒè¹ãA¡¹ìo¹ Î³Ú 
šà¹³å[i¡ìi¡ Na +  "àÚ> [>³—[º[Jt¡ ëA¡à>[i¡ ‡à¹à
šø[t¡Ñ‚à[št¡ ÒÚ?

(A) H+  "àÚ>

(B) Ca 2+  "àÚ>

(C) Cl-  "àÚ>

(D) SO4
2-  "àÚ>

79. [>³—[º[Jt¡ ëA¡à>[i¡ "¸àì³à[>Úà™åv¡û¡ [A¡l¡üšøàÎ
ëAÃ¡à¹àÒül¡ ‰¤ìo¹ Î}ÑšìÅ¢ ºàº "‹@ìÛ¡š
l¡ü;šÄ A¡ì¹ >à?

(A) [¤l¡üi¡-1-"àÒü>

(B) [¤l¡üi¡-2-"àÒü>

(C) ëšøàšàÒü>

(D) Òü=àÒü>

80. [>³—[º[Jt¡ ëA¡à>ô "¸à[Îl¡-Û¡à¹A¡ i¡àÒüìi¡öÅì>
ëA¡àì>à l¡üš™åv¡û¡ [>ìƒ¢ÅA¡ ë>Òü?

(A) HCl ¤>à³ NaOH

(B) CH COOH3  ¤>à³ NaOH

(C) CH COOH3  ¤>à³ NH OH4

(D) HCl ¤>à³ NH OH4

81. [>³—[º[Jt¡ ëA¡à>ô [¤[yû¡Úà[i¡ \à¹o-[¤\à¹o ëÅøoã¹ 
[¤[yû¡Úà >Ú?

(A) Zn H SO ZnSO H+ ® +2 4 4 2

(B) SO H S S H O2 2 22 3 2+ ® +

(C) Na H NaH+ ®
1

2
2

(D) HCl NaOH NaCl H O+ ® + 2
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78. During removal of hardness of water 

by Permutit process, Na +  ion of

Permutit is exchanged by

(A) H+  ion

(B) Ca 2+  ion

(C) Cl-  ion

(D) SO4
2-  ion

79. Which one of the following does not

give red precipitate when come in

contact with ammoniacal cuprous

chloride solution?

(A) But-1-yne

(B) But-2-yne

(C) Propyne

(D) Ethyne

80. There is no suitable indicator for the 

acid-base titration of

(A) HCl vs. NaOH

(B) CH COOH3  vs. NaOH

(C) CH COOH3  vs. NH OH4

(D) HCl vs. NH OH4

81. Which of the following reactions

is not an oxidation-reduction

reaction?

(A) Zn H SO ZnSO H+ ® +2 4 4 2

(B) SO H S S H O2 2 22 3 2+ ® +

(C) Na H NaH+ ®
1

2
2

(D) HCl NaOH NaCl H O+ ® + 2



82. &A¡[i¡ [¤ì\àØl¡ ÒüìºC¡ö> l¡üš[Ñ‚t¡ "àìá &³>
"oå[i¡ Òº

(A) O2

(B) NO

(C) CO

(D) H S2

83. í\¤ [¤ìÅÃÈ¸ š[º³àì¹¹ &A¡[i¡ l¡üƒàÒ¹o Òº

(A) ëÎºåìºà\

(B) š[º[=>

(C) PVC

(D) PTFE

84. &A¡[i¡ í\¤ ë™ïK ™J> NaHCO3-&¹ \ºãÚ
‰¤ìo¹ Î}ÑšìÅ¢ "àìÎ, ¤åƒ¤åƒ "àA¡àì¹ CO2

K¸àÎ [>K¢t¡ ÒÚ¡ú ë™ïK[i¡ìt¡ l¡üš[Ñ‚t¡ A¡à™¢A¡¹ã
³èºA¡[i¡ Òº

(A) —CHO

(B) —OH

(C) —COOH

(D) Ê =C O

85. H SO2 4 ‡à¹à "Gà[ºA¡ "¸à[Îl¡ ë=ìA¡ \º
[¤™åv¡û¡ Òìº l¡ü;šÄ ÒÚ

(A) CO CO+ 2

(B) CO2

(C) CO

(D) C
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82. The molecule which contains an odd 

electron is

(A) O2

(B) NO

(C) CO

(D) H S2

83. An example of biodegradable

polymer is

(A) cellulose

(B) polythene

(C) PVC

(D) PTFE

84. An organic compound when come

in contact with aqueous solution of 

NaHCO3, CO2 gas is evolved as

effervescence. The functional group

present in the compound is

(A) —CHO

(B) —OH

(C) —COOH

(D) Ê =C O

85. Dehydration of oxalic acid with 

H SO2 4 gives

(A) CO CO+ 2

(B) CO2

(C) CO

(D) C



86. 60 g ®¡ì¹¹ ëA¡àì>à K¸àìÎ¹ STP-ìt¡ "àÚt¡>
5·6 L Òìº K¸àÎ[i¡¹ ¤àÍš-Q>Œ Òì¤

(A) 30

(B) 120

(C) 60

(D) 240

87. ‘ƒå‹’ [>³—[º[Jt¡ ëA¡à>ô ‹¹ì>¹ Òü³àºÎ>?

(A) \ìº¹ ³ì‹¸ ët¡º

(B) ët¡ìº¹ ³ì‹¸ \º

(C) ët¡ìº¹ ³ì‹¸ ët¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

88. [>³—[º[Jt¡ ëA¡à>[i¡ t¡[Øl¡;-"[¤ìÅÃÈ¸ šƒà=¢?

(A) NH Cl4

(B) CH COOH3

(C) NH OH4

(D) C H O6 12 6

89. ¤Þê¡ì>¹ ‹øç¡¤ãÚt¡à¹ $‹ÿ¤¢yû¡³ Òº

(A) Cl—Ba < Cl—B < Cl—Br < Cl—Cl

(B) Cl—B < Cl—Br < Cl—Cl < Cl—Ba

(C) Cl—Cl < Cl—Br < Cl—B < Cl—Ba

(D) Cl—Cl < Cl—Br < Cl—Ba < Cl—B
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86. The volume of 60 g of a gas at STP

is 5·6 L. Its vapour density is

(A) 30

(B) 120

(C) 60

(D) 240

87. ‘Milk’ is an emulsion of the type

(A) oil in water

(B) water in oil

(C) oil in oil

(D) None of the above

88. Among the following, which one is

non-electrolyte?

(A) NH Cl4

(B) CH COOH3

(C) NH OH4

(D) C H O6 12 6

89. The increasing order of bond

polarities is

(A) Cl—Ba < Cl—B < Cl—Br < Cl—Cl

(B) Cl—B < Cl—Br < Cl—Cl < Cl—Ba

(C) Cl—Cl < Cl—Br < Cl—B < Cl—Ba

(D) Cl—Cl < Cl—Br < Cl—Ba < Cl—B



90. F &¤} Ne š¹³àoå¹ šà¹³ào[¤A¡ ¤¸àÎà‹¢ (Å-&)

Òº ™=àyû¡ì³

(A) 1·60 &¤} 1·60

(B) 0·72 &¤} 0·72

(C) 1·60 &¤} 0·72

(D) 0·72 &¤} 1·60

91. C H4 9 Î}ìA¡t¡™åv¡û¡ ÑšãÅã\ ë=ìA¡ A¡Ú[i¡
"¸àº[A¡º Nøç¡š šà*Úà ™àÚ?

(A) 1

(B) 3

(C) 2

(D) 4

92. &A¡[i¡ ë™ïK X  \ìº¹ ÎìU [¤[yû¡Úà A¡ì¹ O2

K¸àÎ [>K¢t¡ A¡ì¹¡ú X  ë™ïK[i¡ Òº

(A) K Cr O2 2 7

(B) Na O2 2

(C) KMnO4

(D) Pb NO( )3 2

93. [>³—[º[Jt¡ º¤oP¡[º¹ ³ì‹¸ šøÅ³ º¤o[i¡ Òº

(A) Na HPO2 3

(B) NaHSO4

(C) Na HPO2 4

(D) NaHCO3
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90. The atomic radii (in Å) of F and Ne

atoms are respectively

(A) 1·60 and 1·60

(B) 0·72 and 0·72

(C) 1·60 and 0·72

(D) 0·72 and 1·60

91. How many alkyl groups can be

derived from the species C H4 9 ?

(A) 1

(B) 3

(C) 2

(D) 4

92. A compound X  on reaction with

water evolves O2 gas. X  is

(A) K Cr O2 2 7

(B) Na O2 2

(C) KMnO4

(D) Pb NO( )3 2

93. Among the following, a neutral

salt is

(A) Na HPO2 3

(B) NaHSO4

(C) Na HPO2 4

(D) NaHCO3



94. 1 amu-&¹ ³à> Nøà³ &A¡ìA¡ Òº

(A) 1 66 10 24× ´ -

(B) 16 6 10 24× ´ -

(C) 166 10 24´ -

(D) 0 166 10 24× ´ -

95. šø=³ A¡ìÛ¡ Qèo¢àÚ³à> &A¡[i¡ ÒüìºC¡öì>¹
K[t¡ì¤K v Òìº [‡t¡ãÚ A¡ìÛ¡ &¹ K[t¡ì¤K Òì¤
(H š¹³àoå¹ ëÛ¡ìy)

(A) v

(B) 2v

(C) v/2

(D) 4v

96. C, N, O &¤} F-&¹ "àìÚà>àÒüì\Å> Å[v¡û¡¹
Î[k¡A¡ yû¡³ Òº

(A) F > O > N > C

(B) F > N > O > C

(C) C > N > O > F

(D) O > F > N > C

97. \ìº¹ "oåìt¡ H—O—H ¤Þê¡> ëA¡àìo¹ ³à>
Òº

(A) 107·5°

(B) 99·5°

(C) 109·5°

(D) 105·5°
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94. The value of 1 amu in gram is

(A) 1 66 10 24× ´ -

(B) 16 6 10 24× ´ -

(C) 166 10 24´ -

(D) 0 166 10 24× ´ -

95. If the velocity of an electron

revolving in the first orbit is v, then

its velocity in the second orbit is

(for H atom)

(A) v

(B) 2v

(C) v/2

(D) 4v

96. The correct order of ionization

energies of C, N, O and F is 

(A) F > O > N > C

(B) F > N > O > C

(C) C > N > O > F

(D) O > F > N > C

97. H—O—H bond angle in water

molecule is

(A) 107·5°

(B) 99·5°

(C) 109·5°

(D) 105·5°



98. IUPAC š‡ý¡[t¡ìt¡ >à³A¡¹ìo [¤[®¡Ä A¡à™¢A¡¹ã
³èºìA¡¹ "NøKo¸t¡à¹ yû¡³ Òº

(A) —CHO >Ê =C O > —OH >Ê = ËC C

(B) Ê =C O > —CHO > —OH >Ê = ËC C

(C) —CHO > —OH >Ê =C O >Ê = ËC C

(D) Ê = ËC C > —CHO >Ê =C O > —OH

99. &A¡[i¡ "GàÒül¡ P-&¹ \ºãÚ ‰¤o " Ã́‹³ã¢ ÒÚ¡ú
"GàÒül¡ P Òº

(A) Na O2

(B) CO

(C) SO2

(D) Li O2

100. &A¡[i¡ ‰¤oìA¡ ®¡àº®¡àì¤ "àìºà[Øl¡t¡ A¡¹ìº ‰¤o
ë=ìA¡ [A¡áåi¡à ‰à¤ šƒà=¢ šõ=A¡ ÒÚ¡ú ‰¤o[i¡¹
šøAõ¡[t¡ Òº

(A) "Î´šõv¡û¡ ‰¤o

(B) "[t¡šõv¡û¡ ‰¤o

(C) Î´šõv¡û¡ ‰¤o

(D) A¡ºìÚl¡ãÚ ‰¤o
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98. The order of priority of the

functional groups in IUPAC system

of nomenclature is

(A) —CHO >Ê =C O > —OH >Ê = ËC C

(B) Ê =C O > —CHO > —OH >Ê = ËC C

(C) —CHO > —OH >Ê =C O >Ê = ËC C

(D) Ê = ËC C > —CHO >Ê =C O > —OH

99. The aqueous solution of an oxide P

is acidic in nature. Oxide P is

(A) Na O2

(B) CO

(C) SO2

(D) Li O2

100. A solution when stirred well, some

of the solute particles separate out

from the solution. The nature of the

solution is

(A) unsaturated solution

(B) supersaturated solution

(C) saturated solution

(D) colloidal solution



GROUP—C / ®¡àK—C

MATHEMATICS / K[ot¡

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

101. ™[ƒ 
4 7

4 7

7

3

x y

x y

+

-
=  ÒÚ, t¡ì¤ x y:  Òì¤

(A) 7 : 3

(B) 3 : 7

(C) 35 : 8

(D) 8 : 35

102. R1-&¹ 1 ³àìÎ¹ Î¹º Îåƒ 1 šÚÎà Òìº
¤à[È¢A¡ Î¹º Îåìƒ¹ Òà¹ Òì¤

(A) 10%

(B) 12%

(C) 15%

(D) 5%

103. ™[ƒ ëA¡àì>à ‰¤¸ [¤[yû¡ A¡ì¹ 16
2

3
% Û¡[t¡ ÒÚ,

t¡ì¤ yû¡Ú³èº¸ &¤} [¤yû¡Ú³èìº¸¹ ">åšàt¡ Òì¤

(A) 5 : 6

(B) 6 : 5

(C) 10 : 9

(D) 9 : 10
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Directions : Answer the following

questions by selecting the correct option.

101. If 
4 7

4 7

7

3

x y

x y

+

-
= , then x y:  will be

(A) 7 : 3

(B) 3 : 7

(C) 35 : 8

(D) 8 : 35

102. If the simple interest for R1 for

1 month is 1 paise, then the rate of

simple interest per annum will be

(A) 10%

(B) 12%

(C) 15%

(D) 5%

103. By selling a commodity, if the loss is 

16
2

3
%, then the ratio of cost price

and selling price will be

(A) 5 : 6

(B) 6 : 5

(C) 10 : 9

(D) 9 : 10



104. ™[ƒ 5[i¡ ëº¤å¹ yû¡Ú³èº¸ R1 &¤} 4[i¡ ëº¤å¹
[¤yû¡Ú³èº¸ R1 ÒÚ, t¡ì¤ Åt¡A¡¹à ºà®¡ Òì¤

(A) 25%

(B) 20%

(C) 15%

(D) 10%

105. ëA¡àì>à &A¡\> ¤¸[v¡û¡¹ ë¤t¡> šø[t¡ ¤á¹ 8%

Òàì¹ ¤õ[‡ý¡ šàÚ¡ú &A¡ ¤á¹ šèì¤¢ t¡à¹ ë¤t¡> [áº 
R18,750. ' ¤¸[v¡û¡¹ ¤t¢¡³à> ë¤t¡> Òì¤

(A) R20,250

(B) R20,000

(C) R25,000

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

106. ™[ƒ [A¡áå i¡àA¡à 2 ¤á¹ š¹ ¤à[È¢A¡ 12% W¡yû¡¤õ[‡ý¡
Òàì¹ Îåìƒ³èìº R3,136 ÒÚ, t¡àÒìº ' i¡àA¡à¹
¤t¢¡³à> ³èº¸ Òì¤

(A) R2,000

(B) R2,500

(C) R1,200

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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104. If the cost price of 5 lemons is R1

and the selling price of 4 lemons is 

R1, then the profit percentage

will be

(A) 25%

(B) 20%

(C) 15%

(D) 10%

105. The salary of a man increases every

year by 8% . One year ago his salary

was R18,750. His present salary

will be

(A) R20,250

(B) R20,000

(C) R25,000

(D) None of the above

106. In 12% per annum compound

interest if some principal in 2 years

has become R3,136 with interest,

then the principal will be

(A) R2,000

(B) R2,500

(C) R1,200

(D) None of the above



107. 6, 15, 20 &¤} 43 Î}J¸àP¡[º¹ šøìt¡¸A¡[i¡¹
ÎìU A¡t¡ ë™àK A¡¹ìº ë™àKó¡ºP¡[º Î³à>åšàt¡ã
Òì¤?

(A) 2

(B) 3

(C) 4

(D) 5

108. ™[ƒ ëA¡àì>à Î}J¸àìA¡ 10% A¡[³ìÚ [ƒìº Î}J¸à[i¡ 
90 ÒÚ, t¡ì¤ Î}J¸à[i¡ Òì¤

(A) 90

(B) 80

(C) 100

(D) 120

109. ( )4 4 22 2a ab bc c- + - -&¹ l¡ü;šàƒA¡P¡[º

Òº

(A) ( )2a c+  &¤} ( )2 2a b c- -

(B) ( )2a c-  &¤} ( )2 2a b c+ +

(C) ( )2a c-  &¤} ( )2 2a b c- +

(D) ( )2a c-  &¤} ( )2 2a b c- -
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107. What number must be added to

each of the numbers 6, 15, 20 and

43 to make them proportional?

(A) 2

(B) 3

(C) 4

(D) 5

108. If 10% is reduced from a number, it

becomes 90. Then the number is

(A) 90

(B) 80

(C) 100

(D) 120

109. The factors of ( )4 4 22 2a ab bc c- + -

are

(A) ( )2a c+  and ( )2 2a b c- -

(B) ( )2a c-  and ( )2 2a b c+ +

(C) ( )2a c-  and ( )2 2a b c- +

(D) ( )2a c-  and ( )2 2a b c- -



110. r-&¹ ëA¡à>ô ³àì>¹ \>¸ xr y- =4 7 &¤} 
- + + =x ry 9 0 Î³ãA¡¹o‡ìÚ¹ ëA¡àì>à Î³à‹à> 
=àA¡ì¤ >à?

(A) r = +1 "=¤à -1

(B) r = +2 "=¤à -2

(C) r = +3 "=¤à -3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

111. ëA¡àì>à &A¡[i¡ šøƒv¡ ®¡N—à}ìÅ¹ Òì¹¹ ÎìU 1

ë™àK A¡¹ìº ®¡N—à}Å[i¡ 
1

2
 ÒÚ &¤} º¤ ë=ìA¡ 2

[¤ìÚàK A¡¹ìº ®¡N—à}Å[i¡ 
1

3
 ÒÚ¡ú šøƒv¡ ®¡N—à}Å[i¡

Òì¤

(A)
9

5

(B)
8

5

(C)
5

9

(D)
5

8

112. 10
1

3x
x

- =  Î³ãA¡¹ìo¹ ¤ã\P¡[º Òì¤

(A)
1

2
 &¤} -

1

5

(B) 2 &¤} -5

(C) -2 &¤} 5

(D) -
1

2
 &¤} 

1

5
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110. For what value of r do the equations 

xr y- =4 7 and - + + =x ry 9 0 have no 

solution?

(A) r = +1 or -1

(B) r = +2 or -2

(C) r = +3 or -3

(D) None of the above

111. In a given fraction if 1 is added to

the denominator, it becomes 
1

2
 and if 

2 is subtracted from the numerator,

it becomes 
1

3
. Then the fraction is

(A)
9

5

(B)
8

5

(C)
5

9

(D)
5

8

112. The roots of the equation 10
1

3x
x

- =

are

(A)
1

2
 and -

1

5

(B) 2 and -5

(C) -2 and 5

(D) -
1

2
 and 

1

5



113. &A¡[i¡ Î³ìA¡àoã [y®å¡ì\¹ Î³ìA¡àìo¹ ‹à¹A¡ ¤à×
ƒå[i¡¹ íƒQ¢¸ ™=àyû¡ì³ 5x cm &¤} ( ) .3 1x - cm

™[ƒ [y®å¡\[i¡¹ ëÛ¡yó¡º 60 cm2 ÒÚ, t¡ì¤
[y®å¡\[i¡¹ "[t¡®å¡ì\¹ íƒQ¢̧  Òì¤

(A) 15 cm

(B) 16 cm

(C) 18 cm

(D) 17 cm

114. x

4

1

3

5

12
- £  "Î³ãA¡¹o[i¡ìA¡ [Î‡ý¡ A¡ì¹ &¹ê¡š

x-&¹ Îì¤¢àZW¡ ³à> Òì¤

(A) 1

(B) 2

(C) 4

(D) 3

115. log log9 2727 9- -&¹ ³à> Òì¤

(A)
5

6

(B) 1

(C) 0

(D)
6

5

116. ™[ƒ

    A = { , , , }1 3 5 11

    B = { , , , , , , , , , }1 2 3 4 5 6 7 8 9 10

t¡ì¤ A BÇ  Òì¤

(A) { , , , , , , }2 4 6 7 8 9 10

(B) { , , , , , , , , , }1 2 3 4 5 6 7 8 9 10

(C) { , , }1 3 5

(D) { , , , , , , , , , , }1 2 3 4 5 6 7 8 9 10 11
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113. In a right-angled triangle, the length 

of two sides inscribed the right angle 

are 5x cm and ( )3 1x -  cm

respectively. If the area of the

triangle is 60 cm2, then the length

of the hypotenuse of the triangle

will be

(A) 15 cm

(B) 16 cm

(C) 18 cm

(D) 17 cm

114. The maximum value of x which

satisfies the inequation 
x

4

1

3

5

12
- £  is

(A) 1

(B) 2

(C) 4

(D) 3

115. The value of log log9 2727 9-  is

(A)
5

6

(B) 1

(C) 0

(D)
6

5

116. If

    A = { , , , }1 3 5 11

    B = { , , , , , , , , , }1 2 3 4 5 6 7 8 9 10

then A BÇ  will be

(A) { , , , , , , }2 4 6 7 8 9 10

(B) { , , , , , , , , , }1 2 3 4 5 6 7 8 9 10

(C) { , , }1 3 5

(D) { , , , , , , , , , , }1 2 3 4 5 6 7 8 9 10 11



117. >ãìW¡¹ ëA¡à>[i¡ Î[t¡¸ >Ú?

(A) ™[ƒ A, B  &¤} C  ë™-ëA¡à> [t¡>[i¡ [>[ƒ¢Ê¡
ëÎi¡ ÒÚ, t¡ì¤

           A B C A B A CÇ È = Ç È Ç( ) ( ) ( )

(B) ™[ƒ A &¤} B ƒå[i¡ [>[ƒ¢Ê¡ ëÎi¡ ÒÚ &¤} 
A BÍ  ÒÚ, t¡ì¤ A B AÈ =

(C) ™[ƒ A, B  &¤} C  ë™-ëA¡à> [t¡>[i¡ [>[ƒ¢Ê¡
ëÎi¡ ÒÚ, t¡ì¤

           A B C A B A C- Ç = - È -( ) ( ) ( )

(D) ™[ƒ A &¤} B  ë™-ëA¡à> ƒå[i¡ [>[ƒ¢Ê¡ ëÎi¡
ÒÚ, t¡ì¤ A &¤} B-&¹ ÎåÈ³ "”z¹ Òì¤

        A B A B B AD = - È -( ) ( )

118. DABC-&¹ AB &¤} AC ¤à×¹ l¡üš¹ ™=àyû¡ì³ 
X &¤} Y ƒå[i¡ [¤–ƒå &¤} XY BC|| . ™[ƒ 
AX

XB
=

2

3
 &¤} AC = 18 cm ÒÚ, t¡ì¤

AY-&¹ ³à> ÒÚ

(A) 7·2 cm

(B) 2·7 cm

(C) 7 cm

(D) 8 cm

119. &A¡[i¡ [y®å¡ì\¹ [t¡>[i¡ ¤à×¹ íƒQ¢¸ ™=àyû¡ì³
10 cm, 8 cm &¤} 6 cm Òìº [y®å¡\[i¡¹
¤õÒv¡³ ëA¡àìo¹ ³à> Òì¤

(A) 60°

(B) 120°

(C) 90°

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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117. Which one of the following is not

true?

(A) If A, B  and C  be any three finite

sets, then

           A B C A B A CÇ È = Ç È Ç( ) ( ) ( )

(B) If A and B  be two finite sets and 

A BÍ , then A B AÈ =

(C) If A, B  and C  be any three finite

sets, then

           A B C A B A C- Ç = - È -( ) ( ) ( )

(D) If A and B  be any two finite sets, 

then the symmetric difference of 

A and B is

        A B A B B AD = - È -( ) ( )

118. In DABC , X and Y are two points

on AB and AC respectively and 

XY BC|| . If 
AX

XB
=

2

3
 and AC = 18 cm,

then the value of AY  is

(A) 7·2 cm

(B) 2·7 cm

(C) 7 cm

(D) 8 cm

119. The length of three sides of a

triangle are 10 cm, 8 cm and 6 cm

respectively. The largest angle of the

triangle will be

(A) 60°

(B) 120°

(C) 90°

(D) None of the above



120. &A¡[i¡ ¤õìv¡¹ ¤¸àÎà‹¢ 6 cm &¤} ¤õìv¡¹ ¤[Ò@Ñ‚
ëA¡àì>à [¤–ƒå ë=ìA¡ ¤õìv¡¹ ëA¡ì–ƒø¹ ƒè¹Œ 10 cm. 
¤[Ò@Ñ‚ [¤–ƒå[i¡ ë=ìA¡ ¤õìv¡ &A¡[i¡ ÑšÅ¢A¡ "S¡>
A¡¹ìº ÑšÅ¢A¡[i¡¹ íƒQ¢¸ Òì¤

(A) 5 cm

(B) 6 cm

(C) 8 cm

(D) 7 cm

121. &A¡[i¡ ¤õv¡ &A¡[i¡ Î³¤à× [y®å¡ì\ "”z[º¢[Jt¡
"àìá¡ú ™[ƒ [y®å¡\[i¡¹ šø[t¡[i¡ ¤à×¹ íƒQ¢̧  6 cm

ÒÚ, t¡ì¤ ¤õv¡[i¡¹ ¤¸àÎà‹¢ Òì¤

(A) 3 cm

(B) 3 cm

(C) 3 3 cm

(D) 6 cm

122. DABC-&¹ Ð = °B 90  &¤} BD AC^ . ™[ƒ 
AB b= cm, BC a= cm, AC c= cm

&¤} BD x= cm ÒÚ, t¡ì¤ [>³—[º[Jt¡P¡[º¹
³ì‹¸ ëA¡à>[i¡ Î[t¡¸?

(A) ab cx=

(B) bc ax=

(C) ca bx=

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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120. The radius of a circle is 6 cm and

the distance from an external point

to the centre of the circle is 10 cm.

The length of the tangent drawn

from that external point to the circle

will be

(A) 5 cm

(B) 6 cm

(C) 8 cm

(D) 7 cm

121. A circle is inscribed in an equilateral 

triangle. If the length of each side of

the triangle is 6 cm, then the radius

of the circle is

(A) 3 cm

(B) 3 cm

(C) 3 3 cm

(D) 6 cm

122. In DABC , Ð = °B 90  and BD AC^ . If 

AB b= cm, BC a= cm, AC c= cm

and BD x= cm, then which one of

the following is true?

(A) ab cx=

(B) bc ax=

(C) ca bx=

(D) None of the above



123.

šøƒv¡ [W¡ìy  ABCD  &¤} AEFG ƒå[i¡
Îà³à”z[¹A¡¡ú ™[ƒ Ð = °C 60  ÒÚ, t¡ì¤ ÐF-&¹ 
³à> Òì¤

(A) 30°

(B) 80°

(C) 60°

(D) 70°

124.

šøƒv¡ [W¡ìy ABCD  &¤} ABEF  ƒå[i¡
Îà³à”z[¹A¡¡ú ™[ƒ FABC  W¡tå¡®¢å¡ì\¹ ëÛ¡yó¡º 
17 2cm  &¤}  ABCD  Îà³à”z[¹ìA¡¹ ëÛ¡yó¡º 

25 2cm  ÒÚ, t¡ì¤ D BCE-&¹ ëÛ¡yó¡º Òì¤

(A) 6 cm2

(B) 7 cm2

(C) 8 cm2

(D) 9 cm2

125. ABCD  &A¡[i¡ Îà³à”z[¹ìA¡¹ BC  ¤à×¹ ³‹¸[¤–ƒå 
O &¤} D BAD-&¹ ëÛ¡yó¡º 54 2cm . 

ABOD  W¡tå¡®¢å¡\[i¡¹ ëÛ¡yó¡º Òì¤

(A) 80 cm2

(B) 82 cm2

(C) 81 cm2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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123.

In the given figure, ABCD and AEFG

are two parallelograms. If Ð = °C 60 ,

then the value of ÐF  is

(A) 30°

(B) 80°

(C) 60°

(D) 70°

124.

In the given figure, ABCD and ABEF

are two parallelograms. If the area

of quadrilateral FABC  is 17 2cm  and

the area of parallelogram ABCD is 

25 2cm , then the area of D BCE is

(A) 6 cm2

(B) 7 cm2

(C) 8 cm2

(D) 9 cm2

125. In a parallelogram ABCD, the

mid-point of BC  is O and the area of 

D BAD is 54 2cm . The area of

quadrilateral ABOD will be

(A) 80 cm2

(B) 82 cm2

(C) 81 cm2

(D) None of the above

A B

CD

G F

E

60°

A B

CD

G F

E

60°

A B

E
CD F

A B

E
CD F



126. 13 cm ¤¸àÎà‹¢[¤[ÅÊ¡ &A¡[i¡ ¤õìv¡¹ ëA¡ì–ƒø¹ &A¡Òü 
šàìÅ«¢ 24 cm &¤} 10 cm íƒìQ¢¸¹ ƒå[i¡
Î³à”z¹àº \¸à "àìá¡ú \¸à ƒå[i¡¹ ³ì‹¸ ƒè¹Œ Òì¤

(A) 7 cm

(B) 8 cm

(C) 9 cm

(D) 10 cm

127.

šøƒv¡ [W¡ìy ABC  &¤} CEF  ƒå[i¡ [y®å¡\ ë™Jàì> 
BA Î³à”z¹àº CE &¤} AF AC: := 5 9. ™[ƒ 
CE = 8 cm ÒÚ, t¡ì¤ AD =

(A) 5 cm

(B) 9 cm

(C) 16 cm

(D) 10 cm

128. &A¡[i¡ Î³¤à× [y®å¡ì\¹ šø[t¡[i¡ ¤à×¹ íƒQ¢̧  2 cm

¤õ[‡ý¡ ëšìº [y®å¡\[i¡¹ ëÛ¡yó¡º 3 3 2cm  ¤õ[‡ý¡ 

šàÚ¡ú [y®å¡\[i¡¹ šø[t¡[i¡ ¤à×¹ íƒQ¢¸ Òì¤

(A) 3 cm

(B) 4 cm

(C) 2 cm

(D) 5 cm

/23 36

126. The radius of a circle is 13 cm. Two

chords of the circle are parallel and

lying in the same side of the centre

of the circle and the lengths of the

chords are 24 cm and 10 cm

respectively. The distance between

the chords is

(A) 7 cm

(B) 8 cm

(C) 9 cm

(D) 10 cm

127.

In the given figure, ABC  and CEF

are two triangles, where BA is

parallel to CE and AF AC: := 5 9. If 

CE = 8 cm, then AD =

(A) 5 cm

(B) 9 cm

(C) 16 cm

(D) 10 cm

128. If the length of each side of an

equilateral triangle is increased by

2 cm, then its area is increased by 

3 3 2cm . The length of each side of

the triangle is

(A) 3 cm

(B) 4 cm

(C) 2 cm

(D) 5 cm

A

D

B C

E
F

A

D

B C

E
F



129. &A¡[i¡ ¤K¢ìÛ¡y &A¡[i¡ ¤õìv¡ "”z[º¢[Jt¡ "àìá¡ú
™[ƒ ¤K¢ìÛ¡y[i¡¹ šø[t¡[i¡ ¤à×¹ íƒQ¢¸ a 2 cm

ÒÚ, t¡ì¤ ¤õv¡[i¡¹ ëÛ¡yó¡º Òì¤

(A) a2 2cm

(B)
pa2

2

2
cm

(C) pa2 2cm

(D) 2 2 2pa cm

130. r ¤¸àÎà‹¢ &¤} r l¡üZW¡t¡à[¤[ÅÊ¡ &A¡[i¡ º´¬¤õv¡àA¡à¹
[>ì¹i¡ ëW¡àR¡ìA¡ K[ºìÚ r ¤¸àÎà‹¢ &¤} r

l¡üZW¡t¡à[¤[ÅÊ¡ A¡[i¡ º´¬¤õv¡àA¡à¹ ÅSå¡ ¤à>àì>à ™àì¤?

(A) 4

(B) 3

(C) 2

(D) 1

131. 6r  ¤¸àÎà‹¢[¤[ÅÊ¡ &A¡[i¡ [>ì¹i¡ ëKàºA¡ìA¡ K[ºìÚ 
6r  ¤¸àÎà‹¢[¤[ÅÊ¡ &A¡[i¡ º´¬¤õv¡àA¡à¹ ëW¡àR¡ ¤à>àìº
t¡à¹ l¡üZW¡t¡à Òì¤

(A) 8r

(B) 6r

(C) 4r

(D) 2r
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129. A square is inscribed in a circle. If

the length of each side of the square

is a 2 cm, then the area of the circle 

will be

(A) a2 2cm

(B)
pa2

2

2
cm

(C) pa2 2cm

(D) 2 2 2pa cm

130. The radius and height of a right

circular solid cylinder are r and r

respectively. If it is melted and

converted into right circular cone,

then the number of right circular

cones having radius r and height r

will be

(A) 4

(B) 3

(C) 2

(D) 1

131. A solid sphere of radius 6r is melted

and converted into a right circular

cylinder of radius 6r. The height of

the cylinder will be

(A) 8r

(B) 6r

(C) 4r

(D) 2r



132. &A¡[i¡ [y®å¡ì\¹ š[¹Îã³à S &A¡A¡ &¤} [y®å¡\[i¡¹ 
"”z¤¢õìv¡¹ ëÛ¡yó¡º A ¤K¢ &A¡A¡¡ú [y®å¡\[i¡¹
ëÛ¡yó¡º Òì¤

(A) S
A

p
 ¤K¢ &A¡A¡

(B)
S A

2 p
 ¤K¢ &A¡A¡

(C) S
A

p
 ¤K¢ &A¡A¡

(D)
S

A2

p
 ¤K¢ &A¡A¡

133. 3 m K®¡ã¹ &¤} 40 m šøÑ‚[¤[ÅÊ¡ &A¡[i¡ >ƒã
[ƒìÚ 2 km/h ë¤ìK \º ‹à[¤t¡ ÒÚ¡ú šø[t¡
[³[>ìi¡ ë™ \º Î³åì‰ ™àÚ, t¡à¹ "àÚt¡> Òì¤

(A) 4000 m3

(B) 6000 m3

(C) 3000 m3

(D) 2000 m3

134. &A¡[i¡ Q>ìA¡¹ A¡ìo¢¹ íƒQ¢̧  6 3 cm. Q>A¡[i¡¹
"àÚt¡> Òì¤

(A) 27 cm3

(B) 64 cm3

(C) 216 cm3

(D) 125 cm3
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132. The perimeter of a triangle is S unit

and the area of a circle inscribed in

it is A square unit. The area of the

triangle is

(A) S
A

p
 square unit

(B)
S A

2 p
 square unit

(C) S
A

p
 square unit

(D)
S

A2

p
 square unit

133. A river 3 m deep and 40 m wide is

flowing water at the rate of 2 km/h.

The volume of water that flows into

the sea per minute is

(A) 4000 m3

(B) 6000 m3

(C) 3000 m3

(D) 2000 m3

134. The length of the diagonal of a cube

is 6 3 cm. Its volume will be

(A) 27 cm3

(B) 64 cm3

(C) 216 cm3

(D) 125 cm3



135. ™[ƒ 4 3 0sin cosA A- =  ÒÚ, t¡ì¤
sin cos

sin cos

A A

A A

+

-

2

5 3
-&¹

³à> Òì¤

(A)
11

3

(B)
7

3

(C)
8

3

(D)
5

3

136. ™[ƒ sin cos tan2 2 2 1q q q+ + =  ÒÚ, t¡ì¤ 
q-&¹ ³à> Òì¤

(A) 90°

(B) 60°

(C) 45°

(D) 0°

137. ™[ƒ sin sin2 4 1A A+ =  ÒÚ, t¡ì¤ 
tan tan4 2A A- -&¹ ³à> Òì¤

(A) 1

(B) 0

(C) 2

(D)
1

2
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135. If 4 3 0sin cosA A- = , then the value

of

sin cos

sin cos

A A

A A

+

-

2

5 3

is

(A)
11

3

(B)
7

3

(C)
8

3

(D)
5

3

136. If sin cos tan2 2 2 1q q q+ + = , then the 

value of q will be

(A) 90°

(B) 60°

(C) 45°

(D) 0°

137. If sin sin2 4 1A A+ = , then the value

of tan tan4 2A A-  will be

(A) 1

(B) 0

(C) 2

(D)
1

2



138. sin

sec

cos26

64

26

64

°

°
+

°

°cosec
-&¹ ³à> Òì¤

(A) 2

(B) 1

(C) 0

(D)
1

2

139. DABC-&¹ Ð = °A 90 . ™[ƒ [y®å¡\[i¡¹
"[t¡®å¡ì\¹ íƒQ¢¸ 11 cm &¤} "š¹ ¤à×ƒå[i¡¹
íƒìQ¢¸¹ Î³[Ê¡ 13 cm ÒÚ, t¡ì¤ 
sin cosB B+ -&¹ ³à> Òì¤

(A)
11

13

(B)
2

11

(C)
13

11

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. ™[ƒ DABC-&¹ Ð = °B 90 , Ð = °C 30  &¤} 
AB = 5 cm ÒÚ, t¡ì¤ BC-&¹ ³à> Òì¤

(A) 10 cm

(B) 5 cm

(C) 15 cm

(D) 3 cm

141. &A¡[i¡ ƒìr¡¹ íƒQ¢̧  * t¡à¹ áàÚà¹ íƒQ¢¸ Î³à> Òìº 
Îèì™¢¹ l¡üÄ[t¡ ëA¡ào Òì¤

(A) 30°

(B) 45°

(C) 60°

(D) 90°
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138. The value of

sin

sec

cos26

64

26

64

°

°
+

°

°cosec

is

(A) 2

(B) 1

(C) 0

(D)
1

2

139. In DABC , Ð = °A 90 . If the length of

the hypotenuse of the triangle is

11 cm and sum of other two sides is

13 cm, then the value of sin cosB B+

is

(A)
11

13

(B)
2

11

(C)
13

11

(D) None of the above

140. In DABC , Ð = °B 90 , Ð = °C 30  and 

AB = 5 cm. The value of BC  will be

(A) 10 cm

(B) 5 cm

(C) 15 cm

(D) 3 cm

141. The length of a rod and the length of 

its shadow are equal. The angle of

elevation of the sun is

(A) 30°

(B) 45°

(C) 60°

(D) 90°



142. ™[ƒ a &¤} b ƒå[i¡ ‹>àuA¡ ÎèÜìA¡ào ÒÚ 
( )2a b>  &¤} sin( )2 1a b- =  * 

cos( )a b+ =
1

2
 ÒÚ, t¡ì¤ a-&¹ ³à> Òì¤ 

(A) 50°

(B) 60°

(C) 40°

(D) 30°

143. ™[ƒ 5, 3, 0·5, 4·5, a, 8·5 &¤} 9·5

Î}J¸àP¡[º¹ ë™ï[KA¡ KØl¡ 7 ÒÚ, t¡ì¤ a-&¹
³à> Òì¤

(A) 20

(B) 18

(C) 16

(D) 14

144. ëA¡àì>à &A¡[i¡ š¹ãÛ¡àÚ 20 \> áàìy¹ > ¬́¹
[>³—¹ê¡š :

5, 6, 8, 9, 10, 11, 11, 12, 13, 13, 

14, 14, 15, 15, 15, 16, 16, 18,

19, 20

³‹¸³à Òì¤

(A) 13

(B) 14

(C) 13·5

(D) 14·5
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142. If a and b are two positive acute

angles ( )2a b>  and sin( )2 1a b- =  and 

cos( )a b+ =
1

2
, then the value of a

will be

(A) 50°

(B) 60°

(C) 40°

(D) 30°

143. If 7 is the mean of 5, 3, 0·5, 4·5, a,

8·5 and 9·5, then the value of a is

(A) 20

(B) 18

(C) 16

(D) 14

144. The marks of 20 students in a test

were as follows :

5, 6, 8, 9, 10, 11, 11, 12, 13, 13, 

14, 14, 15, 15, 15, 16, 16, 18,

19, 20

The median will be

(A) 13

(B) 14

(C) 13·5

(D) 14·5



145. [>³—[º[Jt¡ š[¹Î}J¸à [¤®¡à\ì>¹ ë™ï[KA¡ KØl¡
7·5 :

W¡º¹à[Å 5 6 7 8 9 10 11 12

š[¹Î}J¸à 20 17 f 10 8 6 7 6

f-&¹ ³à> Òì¤

(A) 16

(B) 15

(C) 14

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

146. 3, 5, 6, 7, 5, 4, 7, 5, 6, ( )x +1, 6, 7
¹à[ÅP¡[º¹ Î}J¸àP¡¹ç¡ ³à> 7 Òìº x-&¹
³à> Òì¤

(A) 4

(B) 5

(C) 6

(D) 7

147. 1, 7, 5, 3, 4 &¤} 4 Î}J¸àP¡[º¹ ë™ï[KA¡
KØl¡ m. "à¤à¹ 3, 2, 4, 2, 3, 3 &¤} p

Î}J¸àP¡[º¹ ë™ï[KA¡ KØl¡ m -1 &¤} ³‹¸³à q.
p &¤} q-&¹ ³à>P¡[º Òì¤ ™=àyû¡ì³

(A) 2 &¤} 3

(B) 4 &¤} 2

(C) 3 &¤} 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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145. The mean of the following

distribution is 7·5 :

Variable 5 6 7 8 9 10 11 12

Frequency 20 17 f 10 8 6 7 6

The value of f will be

(A) 16

(B) 15

(C) 14

(D) None of the above

146. If the mode of the values 3, 5, 6, 7,

5, 4, 7, 5, 6, ( )x +1, 6, 7 is 7, then the 

value of x is

(A) 4

(B) 5

(C) 6

(D) 7

147. The mean of 1, 7, 5, 3, 4 and 4 is m.

The numbers 3, 2, 4, 2, 3, 3 and p

have mean m -1 and median q. The

values of p and q will be respectively

(A) 2 and 3

(B) 4 and 2

(C) 3 and 4

(D) None of the above



148. 30–39, 40–49, 50–59 ëÅøoãÎ³èìÒ¹ ³ì‹¸
šø=³ ëÅøoã¹ ëÅøoã Îã³à>à Òì¤

(A) 29·5, 39·5

(B) 30·5, 40·5

(C) 29·5, 38·5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

149. &A¡[i¡ š[¹Î}J¸à [¤®¡à\ì>¹ ë™ï[KA¡ KØl¡ &¤}
³‹¸³à¹ ">åšàt¡ 2 : 3 Òìº &Òü [¤®¡à\>[i¡¹
Î}J¸àP¡¹ç¡ ³à> &¤} ë™ï[KA¡ KìØl¡¹ ">åšàt¡ Òì¤

(A) 2 : 5

(B) 5 : 2

(C) 4 : 5

(D) 5 : 4

150. ëA¡àì>à š[¹Î}J¸à [¤®¡à\ì>¹ ë³ài¡ š[¹Î}J¸à
100 &¤} &A¡[i¡ ëÅøoã¹ š[¹Î}J¸à 7 Òìº '
ëÅøoã[i¡¹ Åt¡A¡¹à š[¹Î}J¸à Òì¤

(A) 0·07

(B) 7

(C) 70

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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148. The class limit of the first class

among the classes 30–39, 40–49,

50–59 will be

(A) 29·5, 39·5

(B) 30·5, 40·5

(C) 29·5, 38·5

(D) None of the above

149. In a frequency distribution, the ratio 

of mean and median is 2 : 3. The

ratio of mode and mean of the

distribution will be

(A) 2 : 5

(B) 5 : 2

(C) 4 : 5

(D) 5 : 4

150. In a frequency distribution, the total 

frequency is 100 and the frequency

of a particular class is 7. The

percentage frequency of that

particular class will be

(A) 0·07

(B) 7

(C) 70

(D) None of the above
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡
A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹ OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹ OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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